
10 − 6 = 4 − 3 = 

3 − 1 = 6 − 1 = 

9 − 2 = 8 − 3 = 

2 − 2 = 8 − 4 = 

Practice Your Subtraction, 1-10, #1
Subtract the number in each problem. Write the answer in the space. 
Then, fill in the missing word in the sentence below.

Now on the back of this paper, write out some more subtraction 
problems of your own.

Ten minus six equals ____________

Three minus one equals _________

Four minus three equals __________

Six minus one equals ____________

Nine minus two equals __________ Eight minus three equals _________

Two minus two equals ___________ Eight minus four equals __________
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